


It's not normal not to have options. 

It's impossible not to want freedom. 









Negative Prefixes 
IN: inability, inequality, inexplicable
A: atypical, abnormal
UN: uninspiring, unhelpful, unwilling(ness), unwise, unseemly
DIS: dishonest, disregard, dissatisfy, disorderly
NON: non-professional; non-conformist, non-native, non -
negotiable
IL/IM/IR: illogical, immoral, impractical, illegitimate, irrelevant





The most important point is that it is inconceivable that people
could ever have developed their more complex tools without
their ability to manipulate symbols and communicate with one
another in symbolic languages.



The most important point is that it is inconceivable that people could ever have developed their more
complex tools without their ability to manipulate symbols and communicate with one another in symbolic
languages.

It means that making complex tools is only possible if symbols and language are used. 
The two negative words are inconceivable (= “not able to be imagined” or “not possible”) and
without (= “not having”). 

Putting them together, “not possible … not having …” means “only possible … having …”. 

So the sentence could be rewritten “it is only possible that people could have developed their
more complex tools by having the ability to use symbols and language.”





The attempt to prove self-evident considerations is a worthy
deed because the consequence of being reduced to the state
of delusion is too dire. 

The first negative word is ridiculous which means
“nonsensical.”

The second negative is were it not for which means “in the
absence of.”

In the absence of the consequence, the attempt to prove
something that makes common sense would be ridiculous.
However, because the threat of being reduced to vassalage
by the state is real, the attempt is worthy. 


